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Losing Trick Count

Question 1

You open 1S holding each of the four hands numbered 1 to 4 below. Your partner has this hand and responds 2S.
(This is correct because the hand has a fit for your spades and 9 losers).

o X X X X
v A X X
¢ K X
LJ X X X X
What will you rebid holding each of these hands ?
1 23 A K X X 2 2 A K X X
A4 K J X A4 K J X
¢ Q x X ¢ X X X
& K X X & A Q x
3 o A K Q x 4 o A K Q x
A4 K J X A4 K J X
¢ Q x X ¢ Q x X
& A Q x & K x X
1 2
3 4
Question 2

What will you rebid holding each of these hands if partner responds 3S ?

1 2
3 4
Question 3

What will you rebid holding each of these hands if partner responds 2D ?
1 2

3 4



